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[@Deepakkumar-yj9hi 2 days ago
@ @souvikehand 2 days ago @ Largest cell in human body is ovum
# Largest cell in human body - Ovum (female gamate) Longest cell is nerve cell
Thank you so much sirji 4 o @ o v a1 GF  Repy
e’ G Repy
{@sachinbiradar3039 2 days ago (edited)
e @BabitaKumari-uilty 2 days ago e Ans : largest cell in humam body OVUM an is dia is 0.1mm
H.w- largest cell in human body - nerve cell { ovum) ..... Thank you somuch sir Jy se s snse ® ¥ Ovum is 20 times bigger than the Sperm
o'y

Dstrich egg is the largest cell of tliving organisms

e’ G Repy

e’ G Repy

: [@MNkkushwaha-qzdzy 2 days ago
"'3 MNerve cell ( ovum) ...
Thank you so much sir
VEry nice session

e’ G Repy

@aashikhussain7882 2 days ago
HW:ovum (female gamete) is the largest cell present in the human body. It is a single cell released
from the ovary every month. The size of each ovum is 0.1mm in diameter @ @ P P P P @

e’ G Repy
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' @subhamambastad4314 1 day ago Q @piyushkumar1660 2 days ago
g Smallest cell- mycoplasma pplo(no cell wall, or bacteria cell) Q Human body largest cell ?
Largest cell - ostrich egg - Ovum is the largest cell present in the human body. It is a single cell released from the ovary every
on humam maonth. The size of each ovum is 0.1mm in diameter.
Largest cell - ovum (in female) I‘ 1 5‘] Reply
Longest cell - neuron
Smallest cell- speam (in male) @Takshak-_ 2 days ago (edited)
Show less Largest cell in female body ovum and in male body motor neurone. And sirji vitamins D ki deficiency ki
e G Reply wajah se bones affect hota hai but skin ka bhi hota hai na melanin ki kami se whitening of skin. Doubt

hai iss guestion mai explain me sir.

B (@subirg536 2 days ago |‘ 1 5[] Reply

HW Ans : Largest Cell in Human body is Ovum (Female Gamete ) & longest cen s meuron w w

e G Repy —

KK-19 2 days ago
{@varshakumaris699 2 days ago @
HW Ans: Ovum

Largest cell- Ovum( female gamete) ¥

o CD  Reply e’ G Reply

@ranjankumar311 2 days ago

Largest cell of human body =0vem/EGG CELL (female gamete )
Smallest cell of human body=sperms[male]
Longest(long) cell of human body =BRAIN CELL/NEURENS/MERVE CELL ) LONG =2M

e ' CJ Reply

#:
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@dharmrajkumar4668 2 days ago @ @-Sahil-Khan 2 days ago
The longest cell is the nerve cell. The largest cell in the human body is female ovum. Smallest cell in Hw answer is Ovum (female gamete) is the largest cell present in humans. 0.1mm dia
the human body is male gametes, that is, sperm. & @ @ a1 GF Reply

il ' GH Reply

ﬂ @subhashkumar-gr2zmn 2 days ago

i @shivanisingh14 2 days ago ] largest cell - ovum
9 Largest cell in female _ovum o Reply
Largest cell in male _neuron
vV " (@914shivanshukumar? 2 days ago
e ' GF  Reny ; Largest cell ovum

1 Reply
‘ @KiranKumari-thélf 2 days ago (edited) I‘ gl]

Homeworlk -Largest cell in human body @ @tathagatakonar6505 2 days ago

Sir, science ko detail me study kar ne ke liye konsa book achhe hai plzz bata di jive 4 .
Ans -0Ovum (female gamete) is the largest cell present in the human body. It is a single cell released y / P I

from the ovary every month. The size of each ovum is 0.1mm in diameter. The smallest cell in the e’ CF Repy
human body is the sperm (male gamete).

Thanku sir Ja s s o o [@deepmani9913 1 second ago

‘You can go with Lucent that is sufficient for all AE JE Exams
Show less

iy ' GH Reply

~ 1reply

L LT Renlv

@ [@wasimakram1077 2 days ago
Dimensions k sath answer Kiran deep sir se padh k deep knowledge ho gya hai science ka &
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Q. Which of the following diseases are NOT caused by smog?
(a) Rickets

(b) Throat cancer

(c¢) SKin cancer

(d) Breathing problem [SSC JE 29 JAN 2018 SHIFT 2]

g. Afef@a & @ ala O fied T & FROT 86 By &7

(v) R

() I FT HET

(&) caar FW

&) I o F FaAET [SSC JE 29 JAN 2018 SHIFT 2]
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Q. Which of the following gas is the second most abundant gas by volume in
atmosphere?

(a) Nitrogen

(b) Ozone

(c) Oxygen

(d) Carbon dioxide [SSC JE 29 JAN 2018 SHIFT 2]

u. Reef@a # @ sl @ g agase & 3aa Hr TR @ gl g TR
AT 872

(T) SIS

(&) 3N

CGEIESIEG

(A) PRI SBIHFASS [SSC JE 29 JAN 2018 SHIFT 2]
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Q. Which of the following is slaked lime?

(a) Ca(OH),

(b) CaO

(c) CaCO,

(d) CaCl, [SSCJE 29 JAN 2018 SHIFT 2]

u. fAafai@d & @ Pl A1 AT I AT &2

(T) Ca(OH),

() cao

() CaCO;

(3Y) CaCl, [SSC JE 29 JAN 2018 SHIFT 2]
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Q. Oil spills is seen in which ecosystem?
(a) Desert ecosystem

(b) Grassland ecosystem

(c) Forest ecosystem

(d) Marine ecosystem [SSC JE 29 JAN 2018 SHIFT 2]

g. do Raa fFa oikfEafadr aF F S@r Sar 82

(v) IeaET aiRfEafAdr a9

(@) grg &1 A aRfEIfadr a7

(&) g aRfEafadr a7

(3N AT aIRfEafadhr a7 [SSC JE 29 JAN 2018 SHIFT 2]
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Q. Which one of the following has the ability to store energy in the form of
electric charge?

(a) Superconductor

(b) Resistor

(c) Capacitor

(d) Inductor [SSCJE 29 JAN 2018 SHIFT 2]

y. eafof@a & @ fras soif o1 RRgd 3mar & §7 # JIka A 1A
&7

(T) Fulchseae
(&) YR
(&) gaiA

@) WRh [SSC JE 29 JAN 2018 SHIFT 2]
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Q. Which one of the following has the least number of free electrons in it?
(a) Conductors

(b) Semiconductors

(c) Superconductors

(d) Insulators [SSC JE 29 JAN 2018 SHIFT 2]

. Aeafaf@a o @ fradt I gelaclal ff J&ar gad A 87

(T) Psae

COENEIGED

(1) guihseed

(3N g [SSC JE 29 JAN 2018 SHIFT 2]
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Q. Which one of the following is the correct expression for the electrical power?
(a) VR

(b) -
(c) VR
(d) "; [SSC JE 29 JAN 2018 SHIFT 2]

u. fAeafafaa & @ @l @1 fga afs & fow Jgr 3ifdeais &2
(T) VR

&) 2

R

(¥Y) V2R
(3r) — [SSC JE 29 JAN 2018 SHIFT 2]
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Q. What will be the resistance (in ohms) of a resistor, when the current through
the resistor is 2 A and the potential difference between the ends of the resistor is
40 V?
(a) 20
(b) 10
(c) 30
(d) 40 [SSC JE 29 JAN 2018 SHIFT 2]

q. frdY gfaiee &1 gfdy (3N &) =1 89, g gfaide & ARIH J 9RT
2 A% 3T gfoige & RRT & &g gHfad 3iaR 40 V§?

(T) 20

()10

(&) 30

(3r) 40 [SSC JE 29 JAN 2018 SHIFT 2]
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Q. With respect to humans, why is carbon monoxide a pollutant?
(a) It reacts with nitrogen dioxide

(b) It reacts with sulphur dioxide

(c) It reacts with haemoglobin

(d) It makes nervous system inactive [SSC JE 29 JAN 2018 SHIFT 2]

U. AT & HIY H, Pl AANHFASS TP U FT 7

(T) IE ATSCIold SIBAHTFHISS & AT UTaAfehar &idr &

(&) IE o SB3iaass & Y Uiafehdr &ldr &

@) IE AATANRT & Y ufAfhar I &

&)) I df¥er dF @ AT A &ar & [SSC JE 29 JAN 2018 SHIFT 2]
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Q. Among the following respiration is which type of process?

(a) Exothermic process only

(b) Endothermic process only

(c) Both exothermic and endothermic

(d) Neither exothermic Nor endothermic [SSC JE 29 JAN 2018 SHIFT 2]

. Aeafaf@a # d Aaaa frg ger $r uferar g2

(T) s FoATEYT Ufehar

(&) daa wsrAafFd ufehar

(&) FeATdT 3R SuArNS gt

@) F af T iAfdAs 3R F & vsrafFe [SSC JE 29 JAN 2018 SHIFT 2]
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Q. The term ‘sericulture’ is related to which of the following?
(a) Fish farming
(b) Silk farming
(c) Bird farming
(d) Bee farming

O, ' WheR' A AAT & O froq gafda &2
(T) AS UTeld
(M) 3 Hr @A

Adda

e
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Q. Which of the following terms best describes the biological study of animal
behaviour?

(a) Etiology

(b) Ethnology
(c) Entomology
(d) Ethology

g. Aeafaf@a F & @l a1 qeg U9 TaeR & Sifdd 3CTIT H qIH IO
ot T &7

(T) cfeddiar

COIGERICSIG

CIRYAGICIE]

&) aAfdwar
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Q. Which of the following terms best describes the biological study of animal
behaviour?

(a) Etiology(Study of diseases)

(b) Ethnology(comparative study of 2 or more cultures)
(c) Entomology

(d) Ethology

g. Aeafaf@a F & @l a1 qeg U9 TaeR & Sifdd 3CTIT H qIH IO
ot T &7

(T) cfeddiar
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Q. The cultivation of high value crops such as vegetables, fruits and flowers is
called

(a) Sericulture
(b) Pisciculture
(c) Apiculture
(d) Horticulture

. dfesrdl, Beil 3R Goil SR 3Ta HeI drell Bl 6 Wl Al
el ST &l

(T) BddeaX

(ff) AU

(&) TheaT

(3T) STTaTAT
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Q. The study of cells is called
(a) Serology

(b) Cytoplasm

(c) Cytology

(d) Etiology

O. PRABIZT P ICTIT el ST ¢l
(T) ERIeren
() AEeITATsH

(&) arEciarsi
(3r) tfegdlst
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Q. Viticulture is :

(a) Vegetable cultivation
(b) Mango cultivation
(c) Grape cultivation

(d) Flower cultivation

qmzﬁ'@?ﬁ%
(T) Fear Y @A
() 3 Hr G
(&) 3R Hr W
(3Y) Gel hr Wl

Adda

e
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Q. The science that deals with the relationship of various organisms with their
environment is kKnown as-
(a) Geology (b) Ecology

(c) Anthropology (d) Cytology
RRB JE 24.05.2019 (Shift-III)

RRB JE CBT-11 31.08.2019 IInd Shift

v. g% e s RAffet shal & a9 gafaror & gy a9t ¥ §64fa §, aearar -
(T) A== CRIERERIGE
(&) Fiare COKIEEEIE]
RRB JE 24.05.2019 (Shift-111)
RRB JE CBT-II 31.08.2019 IInd Shift
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Q. The study of hematology is related to
(a) Plant reproductive system

(b) Blood

(c) Food habits of animals

(d) Bones

RRB J.E. (14.12.2014, Green paper)

O, AcIellol &l AT o g
(T) I Yol YoTTell

CHES

() AR Hr Aot A 3med

CEER

RRB J.E. (14.12.2014, Green paper)
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Q. What is Morphology?

(a) Study of insects

(b) Study of human development

(c) Study of the shape, structure and specific structural properties of the
organism

(d) Study of interdependence of organism and environment

. 3Thiad AT o=r §7

(T) It &1 IeTIq

(&) AT AP FT CTIA

(€ ST & 3R, =T 3R AT dTarcHs quit 1 e
@) ST 3R THReT fr IEAIATAT BT TS
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Q. Which of the following study related to human?
(a) Archaeology

(b) Archeology

(c) Anthropology

(d) Androloggy

q. Aafaf@a & 8 i 91 3reg39 AT § afad 7

(T) [
CHRUGEE
CGIGIESIG]
QIREGIE]

Adda

e
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Q. The study of fertilization, development, division and variation is known as:
(a) Embryology

(b) Physiology

(c) Genetics

(d) Evolution

v. [AvTd, [, e 3R Aeadr & 31aJ & AT ST §:
(T) HoTfa=T

() RrfS=AaTn

(&) Saferd

() faerE
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Q. Which branch of zoology is closely related to the study of sociology of human
race?
(a) Embryology (b) Zoogeography
(c) Physiology (d) Anthropology
RRB JE 29.05.2019 (Shift-I)

q. Siig faed & &l O @ AT Sifa & GHASAT & 3ea9qd § Abear 4
qafda &7
(T) oI (1) SRR
(&) Rt @) ==
RRB JE 29.05.2019 (Shift-I)



